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" e() 1551 -, 'ART A: Grammar and Vocabulary s ddsid
[( )’&} o J r:),ireclicms: Choose the word or phrase (1), (2). (3), or (4) that best complctes each ‘
entence. Then mark the answer on your answer sheet. ‘ (T) mdSH 15
Sense of Appreciation
61- A: What’s it going to be? Will you ... to Turkey next week? Vo
YY dois V0 dmis
B: I don’t know, I can’t make up my mind yet. Maybe. Maybe not. (1) (St 40
1) travels 2) traveled Savu:g Nature
o
3) to travel 4) travel TA Lonia B 10 dmio

62- Which sentence is grammatically correct?
1) Where you will be this time tomorrow morning?
2) This car will holds five people comfortably.
3) Every employee will carry an identity card at all times.
4) That will being Tom coming home now, I'm excited.
63- What should we do to ... production in the factory? The production rate has significantly fallen during the
last month.
1) regard 2) donate 3) boost 4) dedicate
64- I believe it is essential for the students to seek expert ... just from those who are professional in education, i.e.
(in other words) teachers, nht :\li_&'buiﬂ\' }(:m,‘:...i
1) belief 2) advice 3) result 4) custom
65- In the Louvre Muscum all paintings arc ... by thick glasses for security issues.
1) divided 2) planned 3) protected 4) injured
66- Biologists have recently found that the fingerprints of Koala bears are almost ... from those of a human.
1) impossible 2) uninteresting 3) inappropriate 4) indistinguishable
67- Al Gore has stated ... that the American economy is dependent upon a healthy environment.
1) politely 2) repeatedly 3) calmly 4) really
68- The doctor warned the patient not to do hard exercise after the operation until his ... came back.

1) pain 2) strength 3) physician 4) activity

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on

your answer sheet.

We've all heard it a thousand times: "Look both ways before you cross the street!" But how many
people really obey this ...(69)... rule? According to the Federal Highway Administration, about
100,000 pedestrians- people traveling on foot- are hit by cars each vear. It is one of the leading ...(70)... of
accidental death for children. So, how can you be safe when you are walking? Follow these rules offered by
the National Highway TrafTic Safety Administration:

Always walk on the sidewalk. If there is no sidewalk and you have to walk in the street, always walk on

the side that allows you to face oncoming traffic. Wear bright colors. ...(71)... . If you must walk at night,
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be sure to wear reflective clothing or tape so that drivers can see you, Cross the street only at marked
crosswalks or corners, and nlways stop at the curb hefore cromsing, Look hoth ways (left, then right, then

left again). If you see a ear coming, ...(72)... It to puss. Walk at n good pace, Never run,

69- 1) respectful 2) friendly J) simple 4) technologienl
70- 1) causes 2) pnuses J) pntterns 4) stages
71-1) Drivers have seen you 2) Drivery are secing you

3) You want to be able to see drivers 4) You want drivers to he able (o xee you
72- 1) look for 2) wait for 3) eare for 4) mnk for

PART C: Reading Comprehension
Directions: Rend the following passages and answer the questions by choosing the hest cholee (1), (2), (3), or (4). Then mark the correct

choice on your answer sheet.

Passage I

In a way the sudden increase in population is the result of 1 number of success stories. We human beingy
have proved that we are a very clever species. We have solved many of the problems that we face here on

Earth. Not only have we learned to increasc our food supply, but we've also learned how to keep ourselvey

healthier.

As a result, more babies live to grow up. And when they're grown up, most of them become parents.

Also people live longer now. For all these reasons, every year there are at least 70 million more people on
Earth than there were the year before.
Each of these now human beings is important and valuable. Yet the sudden increase in our numbers

may be the world's most serious problem today.

Social scientists have compared the population increasc to corn in a popper. If you've ever popped corn,

you know what happens. You drop a few kernels into a pan. There is a lot of space above the kernels. Then

you cover the pan and turn on the heat. Soon the popper is full.

Our human population has been exploding like the kernels of corn. But our planct is like the popper. It

can't grow in size. Its water, air, and minerals don't increase either. Someday Earth may not be able to

ings alive and well.

supply the resources necessary to kee billions of human be
PPy ’ P @elmeruzkonkoof

73- In the past, population increased at a slow rate because ... .

1) less babies lived to grow up 2) people had fewer problems

3) people learned to increase their food supplies 4) people had healthy lives
74- Population increase is a serious problem because ... .

1) Earth resources are necessary 2) our planct is like a popper
3) someday our planet Earth may explode 4) Earth resources don't increasc
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75- Which of the following is NOT a reason for the sudden increase in population?
1) Increase in food supplies 2) Living longer than before
3) ¥-ligh health standards 4) Children’s becoming parents
76- Which of the following can be the question that the writer of this passage tries to answer?
1) Why do the kemels of corn explode in the popper?
2) When does the number of population go up?
3) Why is the population explosion a problem?

4) How can human beings control the population increase?

Passage 2 :

About 60 percent of an adult human body’s weight is water and it is very important for transplanting
carbohydrates, vitamins, minerals and oxygen to the cells and carrying waste away. This helps to keep the
brain alert, absorb (take in) the nutrients from food into bloodstream, filter out waste products through
urine and regulate blood pressure and body temperature. Water leaves your body through sweat, urine and
even your breath, so it must be replenished (refilled) by drinking regularly.

The amount of water you need to consume depends on a number of factors, including your age, the
temperature of the environment and how much you exercise. However, it is advised that a typical adult
should drink two liters of water per day. About 80 percent of this intake comes from our drinks, while the
other 20 percent comes from water content in food. Even if you lose just one percent or more of your body
weight thl"ough fluid loss, you become dehydrated. If you don’t replenish your body’s fluid levels within 24
hours then you will start to suffer severe reduction in your physical and mental performance.

77- The main idea of this passageis ... .
1) the importance of drinking enough water
2) the role of vitamins in the physical growth
3) the percentage of water in the human body
4) the influence of temperature in the function of the body
78- All of the following are true according to the passage EXCEPT ....
1) water helps carry oxygen to the cells

30 sxnonz uu1]9r
3) water makes up 80 percent of the adult human body

e a}ﬁ%imponam in drinking water

4) we need to replenish the loss of water within 24 hours
79- “Things that someone or something needs to live and grow” is the definition of the word “...” in the passage.
1) carbohydrates 2) minerals 3) nutrients 4) vitamins
80- In which paragraph the author is worried about losing water?
1) Paragraph 1 2) Paragraph 2
3) Both in paragraph 1 & 2 4) None of the paragraphs




